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1. 39 v 99 H < YN & 3R FMYB! SHIQEN & A 39 T B B

The question paper contains two p@rts and you have to answer all questions in both the parts.

2.  ¥F -0 § A9 wvs & 30 HEl TAS1 W10 D QA3 A =,
11920 & dH3E [ 121930 53 fa w9 &I
Part'A'— Mathematical d est has three sections containing 30 questions, Q.Nos 1, to
10 carry 2 marks eac 0 0 20 carry 3 marks each and Q. Nos 21 to 30 carry 5 marks
each.

3. ¥R 9-HT§0 €1 ¥ 9E1 3R 2 B 1515 3P | It Wt ¥ B 10-10
3 T s4 3y fbedt ft v g gS Wi W form wad ¥
Part 'B' - ility T est contains 9 questions. Q. No. 1 and 2 carry 15 marks each and
remainin 9/ 1S carry 10 marks each. In this part you can write your answers in any one of

guage only.

R el /®lelt WrEl A & ford | 4@ @ 9 ford |

Writ answer in Blue / Black ink only. Do not use pencil.

5. % bl 3 R oFE 9v § BN |

All Rough Work is to be done at space provided.

6. 39 WUAHFA19Y < |
There are total 19 pages in the question paper.
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Qs "'IA’’ MU / PART-A MATHEMATICS

quTids /Max. Marks : 100
gvus - |/SECTION - |

TWPH T QI AP BT 8
(Each guestion carries two marks)

Q1. 5 3P Dl AGA gl AR BIST A=A BT J=<R T B ?

What is the difference between largest and smallest 5 digit number ?

Q2. TP GHARR IgYsl & &1 Fel [ YAre 4 9 3R 1 9 &, s afRa w1 gm?

Two adjacent sides of a parallelogram are 4 cm and 7 cm, what is its perimeter ?

Q.3. 1777,7701,7071 30X 7710 & IJasl ¥ § for@l|
Write 1777, 7701, 7071 and 7710 in descending order.

Q4. TN T BT JAJUN 2:3, T <A1 3D AT 30 T | ALAS Bl AT P |
The ratio of two numbers is 2:3 and their sum is 30, find the numbers.



Q.5. T 9EN fer@l Sl 9T 7 8 IR S A5 95 1 8|
Write two composite numbers whose HCF is 1.

Q.6. T®h T3 &1 yRHg 20 AW 2, I BT dFABA T BIM?

The perimeter of a square is 20 cm. What is the area of the square?

Q7. 2§x1§ ®1 |9 S| BN |
2

: 2
Find th [ f2ex1
ind the value o 7x 3

Q8. -3 @ YUTHe  fIeE S S|
8

Find reciprocal of -3
8



Q9. UXETH ®U H 50 HHIE AR 2 hHIE BT JUTd AT B |

Find the ratio of 50 cm and 2 km in simplest form.

Q.10. TP A=A B I H 11 SIS WR 40 T Il §, & R®T BM?
11 is added to the twice of a number to get the result 40, what is the number?

@US -1l /SECTION - I
TAF 9 OF 3P BT

(Each question carries three marks)

Q.11. IR G311 b1 [T 12.5 81 79 A oI AT 14, 16 31X 10 &, AIf =1 571 B |

Average of four numbers is 12.5, Three of these numbers are 14,16 and 10. Find the fourth
number.

Q.12. SIfSA : 22.076 + 0.55 + 0.004 + 1.6015
Add : 27.076 + 0.55 _ 0.004 + 1.6015



Q.13. WM A 20 vUY fd SS9 D WTd | Dol Wil dAT S 35% & oY U= 99 g1, fd den
fd 3 g s w |

Shyam bought banana at the rate of Rs. 20 per dozen and sold them at a profit of 35%, find the
selling price of each banana.

Q.14. 5,4,0,3 | Il g3 WA TSI AT WA BI! IR P! Bl A3 Pl AR & DRI |

Find the difference between the largest and smallest 4 digit numbers formed by the digits 5,0,4,3.

Q.15. fA=feiRaa &1 91 s B |

3845x5x782 + 769x25x218
Evaluate the following :-
3845x5x782 + 769x25x218



Q.16. g BITT AT SId BRI OTADI 6,15 T 18 A YT <1 U AYBS 5 37T

Find the least number which when divided by 6, 15 or 18 leaves remainder 5 in each.

Q.17. IS Th B Dl 6 37 # g1 e & aen fasa Sl &m a1 3 7 4 Q=1 - et B
A R S FW B TF |y fhaa 9 A7 g R 9ad 2

Anajy can finish a work in 6 days, Vijay can finish the same work in 3 days, in how many days
they can finish that work working together?

Q.18. A=foifaa A=l &1 IRE 9 9 Fow -

U'II—‘
U'II-P-
WIN

, 4
7
Arrange the following fractions in ascending order:-
4
7

O'll-b
OOII\.)

1,
5



Q.19. TH FYS DI <qIH1 3=T: BV 1:2:3 & AJU H &, FAYS & <A1 BION BT |19 I1371 |

There interior angles of a triangle are in ratio 1 : 2 : 3 find these angles.

Q.20. 2%$ww3ﬁ?fﬁ=wlﬁaﬁl

Find three fractions, equivalent to 2%

us - llI/SECTION - il

WE T TF 3P BT
(Each question carries five marks)

Q.21. TSP A 42 =R 991 W 8 =Rl @ fd I g ol =4 S &, w1k v s«
B |

By selling 42 oranges a man loses the selling price of 8 oranges, find his loss percentage.



Q.22. IIT x=1, y=2dl [AHCIRIT 1 A1 AT B |

i x(x+y) iy X’y
(i) XO- V) (ii) X7y
If x =1, and y = 2 then evaluate :-

(i) 2 (iiy 2
X(X* - y?) X+y

Q.23. 919 34 B -

3-[2x[3 .
2 |3 {4 x25x(32.8)}+3

Evaluate :

-[2x[3 .
E {4 x25x(32- 8)}+ 3

W




Q.24. A=ferfEa srgurel @ &R 9F $1 fAea | g -

P 1:2:5 g 2:3:5
Convert each part of the following ratios into percentage :
0] 1:2:5 @)y 2:3:5

Q.25. 2% 3AR 5% & U9 A A 9 D WAY Ubel d9¢c ol B ?
What will be a single discount equivalent to three successive discounts of 2% and 5% ?

Q.26. 10 AEAI3N &1 N 12 21 T 29 7 A== &1 9 7 o AW 3 A=A Bl

s\ T @ ?
Average of 10 numbers is 12, if average offirst 7 numbers is 7 then finds the average of last 3

numbers.



Q.27. I 5000 % 5%%a%mwma%a?ﬁagaws1oogﬁw@aﬁwamaﬁml

If Rs. 5000 amounts to Rs. 6100 at 5 1% per annum. Find the time.
2

Q.28. faureH A9 &1 AV BB 7138965 I 11 W fANTSIhar &t Sira B |
Using divisibility rule check the divisibility of 7138965 by 11.

Q.29. 72 Il &1 UR 9 fhaurs e, Wi 40 YeIdl B YR F1 B ?
The weight of 72 books is 9 kg, what is the weight of 40 such books?
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Yus - 'Y’ M SH/PART-B LANGUAGE ABILITY

Q.1. “digsl AfF 3fEr Al B R favg ) 15 g ford | (15)
Write a paragraph of about 15 sentences on anyone of the given topics : (15)
(i) Full Moon Night (i) My Uncle's House
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Q.2. RIS TN Bl & Ydd YghR QT MY {1 & S R o | (3x5=15)

Mol SR arsd WY )T & Aew U |usia & AJAR 10 A€, 1931 Bl Wi
JeHfde 991 Sl 9 Bis fQu 1y, fébg aqeme @™ @1 gaa g wvifde o, wife
SAP1 A B A faderg Ft =iwon | B gH1 o1, W W 99 ITiA oA B AHerd
A BT fb S Sid | /el &I Y@ T & d 891 S« faun f& vaa ga+, 3rga
HgH AT {B JATIH a1 S99 fAeq & forg o/ 7 3 w2 €, saferw I7 o 4 &
@l TR R

el & efleTh B IRR FAPR ISR W DI [931 § 9N 914 31 TE 9D B4
A wffad & 91 & gRem off1 aun wReR A W # ft Fou T8 B A WeRr B
Ve P A 98 A & BN gD A, 3@ R AT B wemH | Fg 98 a1l Tl o
gl ot gt gRe™ < gt gars RISHaRl &1 9gal FARTe B ga A | I qrewnE
M A 39 GRem Al | e W AR R R

% 10 |, 1931 P w1 FIAT?

W 9ISINE WH Bl O 9 ® A8l 8ISl T™1?

T R ARE @F A YR i 9 e wier fear?

H Qe @ Pl AeIE FAl gan?

S AR A fbg 9 B degn TS Y AP
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Read the following passage carefully and answer the questions. (3x5=15)

| was born into a middle class Tamil family in the island town of Rameshwaram in the erstwhile
Madras state. My father, Jainu/bdeen, had neither much formal education nor much wealth;
despite these disadvantages, he possessed great inner wisdom and a true generosity of spirit.
He had an ideal helpmate in my mother, Ashiamma. | do not recall the exact number of people
she fed every day, but | am quite certain that far more outsiders ate with us than a/l the members

of our own family put together.
(Dr APJ Abdul Kalam)

(a) Name the father and the mother of the writer.

(b) What were the qualities of the writer's father as being revealed by him?

(c) What did the writer's mother do every day?

(d) Comment on Ashiamma's characteristics, as 'wife' of Jainulbdeen?

(e) Find the equivalent meaning form the passage:-
0] KINANESS ...
(i) knowledge ...

(i) A place surrounded DY S€a.......ccceevviiiiiiiiiiiiiiiiiiiie,
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Q.3. fA=fefaa Y@rfda orgl &1 I XD AT A A qI9T gAY | (2x5=10)

g | 9 @y geril 9 fAerfiF ok |9 g g, el smavasar R IR 3
Bl &, Rg & AN SO ey Ra SR feRia B o 1 ™ difes R | ) B
SICES

LC]

S-

Make a sentence of your own for each underlined word given in the following passage.
(Do not copy any sentence from the given paragraph) (2x5=10)

Banaras (Varanasi) has always been a centre of learning and even in Buddha's days, it was old and
known as such. It was in the Deer Park at Sarnath near Banaras that Buddha preached his first
sermon; but Banaras does not appear to have been at any time anything like a University, such as
existed then and later in other parts of India. There were numerous groups - consisting of a teacher
and his disciples, and often between vital groups there was fierce debate and arguments.

(a).

(b)

()

(d)

(e)

14



Q4. fA=fofRga aa &1 o1 R fofao|

)

Y

Form meaningful sentences by rearranging the words/phrases in the proper order.

(a).

(b)

()

(d)

(e)

g 98w |q M|

(2x5=10)

Ul 99 9 BIS T8l b Adhdl |

I bl faoell ST B

XN Bl BIc B MoR fgetrsi |

T W1 Bl &g A |

15th July / of / was / life / day / happiest / the / my

(2x5=10)

the / position / 1/ first / won / science / in / quiz

happy / were / my / very / parents

gave / a/ they/ party / small / the / evening / in

friends / my / relatives / me / and / to / came / congratulate
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Q.5. 39 DI @ DI URIET FHATT IH drell g1 39 71 Bl 9 fergdx 94138 & a8 39 Dl 949
TN fASsdl a9 R dUR Y9 | (10)

Write a letter to your mother about your school vacation and requesting her to prepare your favourite

sweets. (20)
Q.6. T for@ vl A AR IEBR IR W PN | (2x5=10)

® 3Fd, AafFa

¥ 3R, 3R
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Use each of the word in separate sentences of your own to show the difference in the meaning of the
words of the pairs given below :- (2x5=10)

(a) Principal, Principle

(b) Stationary, Stationery

(c) Story, Storey

(d) Sight, Cite

(e) Check, Cheque

Q7. fa=fafEa gereRl &1 of for@ar 3vq wedi & A B (2x5=10)

& 3@ § Wchedl|

@ PEl Gl gl

T A WA TH HRAT

g & A FarEn

§ S @ee Al
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Fill in the blanks with suitable prepositions :- (2x5=10)

(@) They could jump the wall. (into, to, over)
(b) He died Cancer, (from, in, of)
(c) The horse is fire, (at, in, under)
(d) He goes to school foot. (on, by, at)
(e) He asked my help. (to, at, for)
Q8. = wigi & Q-1 yatgarh we foran | (2x5=10)
F 3|
LC} SThTR
T dlelld
g Adl
s g
Use the correct tense form to fill in the blanks: (2x5=10)
(@) ThesuNn.....iiiiiieeieees in the west. (set, sets)
(b) My friend........ccoooiiiiiiiiiiiiie. to join NDA. (want, wants, is wanting)
(c) Before independence, India.........ccccceveveeeeeninnenn. many problems. (faces, facing, faced)
(d) The police.......cooiieiiiiiiiiiiiieeee for the criminal. (search, had searched, searched)
() The school........occueeeiiiiiiiiieceee for the autumn break. (closed, close, was closed)
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Q9. fA=feafRaa g & fow e v foran |

)

LC]

3T & Y dTred drell

(2x5=10)

B MISH B drell

S 9gd diern @

A1 P31 PR B HIA arell

g 3id 9 |

Change each of the following as directed :

(@)

(b)

(©)

(d)

(e)

He is very weak. He cannot pass the examination. (use 'too’)

(2x5=10)

I love my country. (use question tag)

Do not write a letter to your friend. (change in to positive sentence)

We have completd the rehearsal. (change into interrogative)

We have won the match. (change into exclamatory sentence)
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